
16 Points Possible

Beginning Greek, LG512C — Quiz 7: Chapter 33

Reneau Peurifoy

65 Points Total

1. Complete the following chart of imperative connecting vowels & endings. (16
points, ½ each)

Present
Active

1  Aoristst

Active
2  Aoristnd

Active

e son e

etw satw etw

ete sate ete

etwsan satwsan etwsan

Present
Middle/Passive

1  Aoristst

Middle
2  Aoristnd

Middle

ou sai ou

esqw sasqw esqw

esqe sasqe esqe

esqwsan sasqwsan esqwsan

1st Aorist
Passive

2nd Aorist
Pass

qhti hti

qhtw htw

qhte hte

qhtwsan htwsan
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2. Complete the following chart for imperatives. Use luvw except where otherwise
indicated.  (16 points, ½ each)

Present
Active

1  Aoristst

Active
2  Aorist Activend

e[rcomai aor: hl̂qon

lu'e lu'son ejlqev

luevtw lusavtw ejlqevtw

luevte luvsate ejlqevte

luevtwsan lusavtwsan ejlqevtwsan

Present Middle
givnomai

1  Aorist Middle 2  Aorist Middlest nd

givnomai, aor: ejgenovmhn

givnou lu'sai genou'

ginevsqw lusavsqw genevsqw

givnesqe luvsasqe genevsqe

givnesqwsan lusavsqwsan genevsqwsan

Present Passive 1st Aorist Passive 2nd Aorist Passive
gravfw, aor: e[graya

luvou luvqhti gravfhti

luevsqw luqhvtw grafhvtw

luvesqe luvqhte gravfhte

luevsqwsan luqhvtwsan grafhvtwsan


